ApTUKYN

HanmeHoBaHue

Kon

14

909-723-014

CroiKa punbTpa

15

BuHT M5%65

16

909-723-016

Pbivar

17

BuHT ST4%12

18

909-723-018

XomyTt

19

909-723-019

Bosayxosog,

20

909-723-020

XomyTt

21

909-723-021

Kopnyc Bo3ayLwwHoro ¢punbtpa

22

909-723-022

®dunbTp BO3AYLWHbIN BYyMaXKHbIN

23

909-723-023

®unbTp BO3AYLIHLIN NMOPOIOHOBbIN

24

909-723-024

Kpbiwka

25

909-723-025

3aXKum

26

909-723-026

Kapb6topaTop

27

909-723-027

MpoKnaakKa Kapb6topaTopa

28

BuHT M5%30

29

909-723-029

Tennousonatop

30

larka

31

909-723-031

JINCT oxnaxaarowmia

RidRr|dlRr|IR[NMIR[RIR[RIR|R[R|W[R N[~

Bo3ayxoays

Mogenb

VB160

Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA Page 1




ApTUKYN

HanmeHoBaHue

Kon

Oednexkrtop

BuHT M5%x16

BuHT M4%x20

909-723-011

MarHeTo

909-723-012

LWainba

MpyXunHa

909-723-030

MaiKka

909-723-031

JINCT oxnaxaaroLwmia

909-723-032

Cseva 3axkuraHma

909-723-033

BuHT M5x8

909-723-034

KpbiwKa unnmHapa

909-723-035

BuHT M5%20

909-723-036

Kpbiwka

909-723-037

BuHT M4x16

909-723-038

KpblwKa

909-723-039

UnnnHgp B cbope (39-44)

MpoknagKa uManHapa

KonbLo nopwHesoe

MopweHb

Maney, nopwHA

Konbuo CTONOpHOEe

909-723-045

MpoKnaakKa raywurens

909-723-046

rnywurtens

909-723-047

LWaiba

909-723-048

BuHT M6%30

909-723-049

BuHT M6%16

909-723-050

larka

909-723-051

LLlan6a

909-723-052

MaxoBuk

CanbHUK 16x27%8

909-723-053

KapTep B cbope (53-64)

RIN[R|R[Rr]R[NMIN[RRINMIRIRRIR[RIR[DR|DRIN(RIR[(R|R[NM]IRINR R

Bo3ayxoays

Mogenb

VB160

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 2




Ne ApTUKYN HanmeHoBaHue Kon
55 NogwnnHmk 6302 2
56 Wrnot 2
57 MpoknagKa KapTepa 1
58 Konensan 1
59 LLInoHKa 2
60 Konbuo 2
61 MoAWMNHUK UroNbYaTbIn 1
62 BuMHT M6x50 4
63 Kaptep 1
Mogenb
Bo3ayxoays
Ayxoay VB160
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 3




Ne ApTUKYN HanmeHoBaHue Kon
1 BuHT M5x20 4
2 [909-723-002 [Craptep 1
3 BunHT M5x25 21
4 BMHT M5x55 2
5 KpoHwTenH 1
6 |909-723-006 |KpblwKa 1
7 1909-723-007 [Koxyx 1
9 BuHT M5x16 3
64 BUHT M5x30 4
65 |909-723-065 |KpoHwTeiH 2
66 Maiika M5 4
67 [909-723-067 |KpoHLWTENH 1
68 |909-723-068 |Bubporacutens 2
69 [909-723-069 |3arkum 1
70 laka 2
71 [909-723-071 |Kopnyc KpblabyaTKu 1
Mogenb
Bo3ayxoays VB160
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 4




100 [909-723-100

Tpoc rasa B cbope

Ne ApTUKYN HanmeHoBaHue Kon
30 Malika 3
50 [909-723-050 |laiika 2
51 LWaiba 2
66 Malika 4
72 |909-723-072 |OepaTenb KpblIbYaTKK 1
73 |909-723-073 |Kpblab4yaTKka 1
74 LWalba 4
75 LWaiba 6
76 BMHT M6x25 4
77 |909-723-077 |Kopnyc BeHTUAATOpA 1
78 KpoHwTenH 1
79 1909-723-079 [AmopTusatop 1
80 BTtynka 1
81 BuHT M5 1
83 Wnunnbka 4
95 [909-723-095 |Tpoc 1
96 BuHT M5x70 1
97 |909-723-097 |laiika 1
98 |909-723-098 |Pyuka 1
99 laika 1

1

1

101 BuHT M5%30
Mogenb
Bo3ayxoays
AYXoAy VB160
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 5




104

ApTUKYN

HanmeHoBaHue

Kon

82

BuHT M5x%x12

83

LWnnnbKka

84

909-723-084

Yexo 3alnTHbIN

85

909-723-085

BaKk TonAnBHbIN

86

Pama

87

909-723-087

XomyTt

88

LWaiba

89

LWainba

90

Konnayok

91

909-723-091

Haknagka

92

3arnywka

93

909-723-093

PemeHb

94

909-723-094

KonbLo ynaoTHUTENbHOE

102

909-723-102

Tpy6a 1

103

909-723-103

Tpyb6a 2

104

909-723-104

Tpy6a 3

105

909-723-105

CoeguHutens

106

909-723-106

KpOoHLWTENH py4YKuM rasa

107

909-723-107

XomyT

108

909-723-108

Tpyb6a rodpmposaHHan

109

909-723-109

KoneHo

110

909-723-110

KonbLo ynaoTHUTENbHOE

RN RrRrIRrIRIR [, [MIMININ|IRRRDN

Bo3ayxoays

Mogenb

VB160

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 6




